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Abstract

We dealt with in this research analytic geometry and the laws of
definition and also the straight line and circle equations and equivalents
and we dealt with bilateral cuttings and three-dimensional.

And we were to conic sections and types parabola, elements and cash
equivalents and excess pieces and elements and equations and then
ellipse, elements and cash equivalents.

We dealt with in this paper the basic concepts of analytical geometry in
three-dimension space and we got on conic sections three-dimensional
(x.y.z) and found that the conic sections important in geometric shapes

and design, whether bilateral or trilateral dimension.
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